FOFA A Bl st A+B=—x3-2x> +4x+5,2A-B =
43 = x> —x+1 € |, F o434 A, B & o1H?

D A=x4+x>4+x+2, B=-2x>-3x>+3x+3
@ A=x>-x24+x+2, B=-2x>-x24+3x+3
@ A=x3-x>4x-2, B=-2x3—x>+3x+7
@ A=x>-x>-x+2, B=-2x>-x>+5x+3

® A=3x>-3x24+3x+6, B=—-4x3+x2+x-1
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7. MAFabc’ta+rb+c=3a>+b>+c*=9,a®+b>+c3=24
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8. RExo| W5t f(x+1)-f(x-1) = 6x> +6, f(0) =1 W=
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f(x) = apx"+ a1 X" 1+ +arx+ao(, a, # 0) B2l EOH
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=af(x+1)"=(x=1)" 4+ a1 {(x+ 1) = (x=1)" 4+
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AN n=3, a, =1

Sofx) =2 tax? +ax+1

flx+1)= f(x=1) = 6x2 + dasx + 2 + 2a;

OlBR gy =0, a1 =25, f(x) =x*+2x+1
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